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1. 255

60 miles; 4 hours; 15 miles per hour; Greg spent more time
riding at 10 mph, then he did at 30 mph, so his average speed is
closer to 10 mph than to 30 mph.

3. 24%
4, a. 90°
b. 5mnin.orabout 15.7 inches
5. 13 cm?
6. a. 27ft
b. 1vyd3

7. x=175m,y =300 m, shorter to longer = %
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8.
9.

10.
11.
12.
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trapezoid; 15 cm?

12V3
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y

6

254.34 cm3
B

x=0; 8 -
yes; Possible answer: The side lengths fit the Pythagorean
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Written Practice continued

20. y=-x-1 24. 3x+ 3
Y
25. a. about 6 million
\ b. C

The graphs are identical because the equations are equivalent.

21. 260°
22. x=20
23. x=1
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